Floating Admittance Matrix Modelling Approach to BJT

Dr. Meena Singh¹, Pragati Prerna²

¹Assistant Professor in Electronics Department, BIT, Mesra, Ranchi, India ²Department of ECE University Polytechnic, B.I.T. Mesra, Ranchi, India

Abstract: The floating admittance matrix (FAM) approach is an elegant method that provides unified approach to analysis of different terminal functions such as impedances, and gains or ratios of voltages, currents and powers of both active and passive network with ease. The zero sum property of the floating admittance matrix provides a check to the researchers to proceed further or re observe the first equation itself. All transfer functions are represented as cofactors of the floating admittance matrix of the circuit.

Key words: Amplifier, Common emitter, Floating Admittance Matrix, Zero Sum property, Cofactors.

I. INTRODUCTION

The well-known conventional and convenient low frequency model of the BJT is h-parameter and hybrid- π model. For the purpose of deriving the floating admittance model (FAM) of the BJT, the h-parameters model is considered [1-18]. The same floating admittance matrix is used for the derivation of its voltage gain, current gain, and power gain, input impedance and output impedance of BJT amplifier in any of its three configurations to demonstrate the beauty and superiority this approach[22-24].

If any one of the three terminals of a BJT is taken common to both of its input and output sides, then it can be assumed as four terminal of two port network as indicated in Fig. 1. Here, the emitter terminal is common to both input and output sides. The base, collector and emitter terminals have been assigned digital numbers 1, 2, and 3 respectively to be used in the derivation of the floating admittance matrix of the BJT.



Fig. 1 BIT as Two Port Network

The four variables in Fig. 1 are defined as the base voltage $(V_B = V_1)$, the collector voltage $(V_C = V_2)$, the input (base) current $(I_B = I_1)$, and the output current $(I_C = I_2)$. Out of these four variables any two variables can be assumed to be

independent variables, then the other two variable become dependent of these independent variables. The selection of independent and dependent variables leads to the various types of parameter representation of the BJT. A few among these representations are;

Impedance parameters

$$(V_1 = f_1(I_1, I_2) \& V_2 = f_2(I_1, I_2)$$
(1)

• Admittance parameters,

$$(I_1 = f_1(V_1, V_2) \& I_2 = f_2(V_1, V_2)$$
(2)

• Hybrid parameters etc.

$$(V_1 = f_1(I_1, V_2) \& I_2 = f_2(I_1, V_2)$$
(3)

Since the hybrid parameter model of the BJT is the normally used at low frequency to analyze its characteristics, we have to select the independent variable in the mixed mode of voltages and currents. For the purpose, let the input current $I_B = I_1$ and the output voltage $V_2 = V_C = V_{23}$ of the two port network shown in Fig.1 are selected as the independent variables; then the input voltage $V_1 = V_B =$ V_{13} and the output current $I_C = I_2$ become the dependent variables and they can be represented mathematically as;

$$V_{13} = f_1(I_1, V_{23}) \tag{4}$$

$$l_2 = f_2(l_1, V_{23}) \tag{5}$$

The input voltage (V_{13}) from Eq. (4) partially dependence on the input current I_1 and partially on the output voltage V_{23} .Similarly, the output current I_2 partially depends on the input current I_1 and partially on the output voltage V_{23} .The effect of partial variations in the independent variables I_1 and V_{23} would result into the total variations in the dependent variables V_{13} and I_2 in Eqs. (4) and (5). Hence, these equations can be represented by partial differential equations as;

$$\delta V_{13} = \frac{\partial V_{13}}{\partial I_1} \Delta I_1 \Big|_{V_{23}=k} + \frac{\partial V_{13}}{\partial V_{23}} \Delta V_{23} \Big|_{I_1=k} = \left(\frac{v_{13}}{i_1}\right) i_1 + \left(\frac{v_{13}}{v_{23}}\right) v_{23}$$
(6)

$$\delta I_2 = \frac{\partial I_2}{\partial I_1} \Delta I_1 \Big|_{V_{23}=k} + \frac{\partial I_2}{\partial V_{23}} \Delta V_{23} \Big|_{I_1=k} = \left(\frac{i_2}{i_1}\right) i_1 + \left(\frac{i_2}{v_{23}}\right) v_{23}$$
(7)

In Eq. (6), the ratio $\frac{v_{13}}{i_1}$ is the small change in input port voltage to the small change in input port current which is defined as the self-port (input) resistance or input impedance. Hence, it is replaced by r_{11} or r_i having dimension of resistance (Ω). The ratio $\frac{v_{13}}{v_{23}}$ is the small change in the inputport voltage to the small change in the output-port voltage. Hence, it is called the reverse voltage ratio of input voltage to the output voltage and written as a_{12} (dimensionless quantity). Similarly, the ratio $\frac{l_2}{l_1}$ from Eq. (7) is the of small change in the output-port current to the small change in inputport current and hence called forward current ratio or gain and is represented as a_{21} (dimensionless quantity). The ratio $\frac{i_2}{v_{23}}$ is the small change in the output-port current to the small change in the output-port voltage and hence called self-port output conductance or resistance and represented as $g_{22} =$ g_o (Siemen=S).

Assuming $\Delta = \partial$ and also that the small changes in static voltages (V_{13}, V_{23}) and currents (J_1, I_2) result in small signals voltages (v_{13}, v_{23}) and currents (i_1, i_2) . Eqs. (6) and (7) reduce to

$$v_{13} = (r_{11})i_1 + (a_{12})v_{23} = (r_i)i_1 + (a_{12})v_{23}$$
(8)

$$i_2 = (a_{21})i_1 + (g_{22})v_{23} = (a_{21})i_1 + (g_o)v_{23}$$
(9)

It is evident from Eqs. (8) and (9) that the dimensions of the 4-parameters $r_{11} = r_i$, a_{12} , a_{21} , and $g_{22} = g_o$ are different. Here, $r_{11} = r_i$ has the dimension of resistance (Ω), the parameters a_{12} and a_{21} are dimensionless, and $g_{22} = g_o$ has the dimension of conductance (Siemen =S). Since all 4-parameters are of different dimensions, it is called hybrid parameter. All the hybrid parameters are represented by letter h and Eqns. (8) and (9) are now expressed as;

$$v_{13} = (h_{11})i_1 + (h_{12})v_{23} = (h_i)i_1 + (h_r)v_{23} = (\frac{1}{g_i})i_1 + (h_r)v_{23}$$
(10)

$$i_2 = (h_{21})i_1 + (h_{22})v_{23} = (h_f)i_1 + (h_0)v_{23}$$
(11)

Equation (10) suggests that the input voltage v_{13} across input port of Fig. 1 is equated as the sum of a voltage drop across the resistance/ impedance $(r_{11} \text{ or } h_i)$ produced by the flow of the input current (i_1) through and the output voltage (v_{23}) controlled voltage source equal to $(h_r)v_{23}$ as in Fig. 1. This is the internal feedback part of voltage from output side to the input side of the BJT. Similarly, Eq.(11) suggests that the output current i_2 is sum of two current sources $(h_f)i_1$ and $(h_0)v_{23}$. The 1st current source $(h_f)i_1$ is the input current (i_1) controlled current source and the 2nd current source $(h_0)v_{23}$ is the output voltage (v_{23}) controlled current source. With the help of these statements, Eqns. (10) and (11) can be arranged in the form of a circuit as shown in Fig.2.



Fig. 2 Two Port mathematical model of BJT

II. FLOATING ADMITTANCE MATRIX OF THE BJT [19-23]

In order to dwell upon the floating admittance model of the BJT, we would like to convert the h-parameter model into the conductance parameters model of the BJT. Since, the current

source $(h_{22})v_{23}$ in Fig. 2 appears across the self-output port voltage v_{23} , it can be replaced by an admittance of $h_{22} \left(= h_{22} \frac{v_{23}}{v_{23}} \right) = h_0 = g_0$. Fig. 2 simplifies to Fig. 3 using these statements.



Fig. 3 h-parameter model of BJT

In Fig. 3, the output voltage v_{13} is the potential difference between terminals 1 and 3 and voltage v_{23} is the potential difference between terminal voltage 2 and 3. Hence, it is written as;

$$v_{13} = v_1 - v_3 = v_{be} = v_b - v_e$$
 and $v_{23} = v_2 - v_3 = v_{ce} = v_c - v_e;$ (12)

Substituting these values of v_{13} and v_{23} from Eq. (12) in Eqs.(10) and (11) yield

$$v_{13} = v_1 - v_3 = h_{ie}i_1 + h_{re}(v_2 - v_3)$$

$$h_{ie}i_1 = v_1 - v_3 - h_{re}(v_2 - v_3) = v_1 - h_{re}v_2 - (1 - h_{re})v_3$$

$$i_r = \frac{1}{2}v_1 - \frac{h_{re}}{h_{re}}v_2 - (1 - h_{re})v_3$$

(12)

$$i_1 = \frac{1}{h_{ie}} v_1 - \frac{h_{re}}{h_{ie}} v_2 - (\frac{1}{h_{ie}} - \frac{h_{re}}{h_{ie}}) v_3$$
(13)

$$i_{2} = (h_{fe})i_{1} + (h_{0e})(v_{2} - v_{3}) = (h_{fe})i_{1} + (h_{0e})v_{2} - (h_{0e})v_{3}$$
(14)

Substituting h-parameter in the form of conductance parameters as;

$$g_i = \frac{1}{h_i}, g_r = \frac{h_r}{h_i} = g_i h_r, g_m = \frac{h_f}{h_i} = g_i h_f, \ h_o = g_0$$
(15)

Equation (13) and (14) are simplified by substituting Eq. (15) in them as;

$$i_1 = g_i v_1 - g_i h_r v_2 - g_i (1 - h_r) v_3 \tag{16}$$

Substituting the value of i_1 from Eq.(16) in Eq.(14) yields

$$i_{2} = h_{fe}g_{i}v_{1} - h_{fe}g_{i}h_{r}v_{2} - h_{fe}g_{i}(1 - h_{r})v_{3} + (h_{0e})(v_{2} - v_{3})$$

$$i_{2} = g_{m}v_{1} + (g_{0} - g_{m}h_{r})v_{2} - \{g_{0} + g_{m}(1 - h_{r})\}v_{3}$$
(17)

From Fig. 3,
$$i_1 + i_2 + i_3 = 0$$
 (18)

$$i_{3} = -i_{1} - i_{2}$$

$$= -(g_{i} + g_{m})v_{1} - \{g_{0} - (g_{m} + g_{i})h_{r}\}v_{2} - \{g_{0} + (g_{m} + g_{i})(1 - hr)v_{3}\}v_{2} - \{g_{0} + (g_{m} + g_{i})h_{r}\}v_{2} - \{g_{0} +$$

Equations (16), (17) and (19) have been derived without considering any reference or ground point.

Now Eqns. (16), (16) and (19) are arranged in the form of matrix as;

$$\begin{bmatrix} i_{1} = i_{b} \\ i_{2} = i_{c} \\ i_{3} = i_{e} \end{bmatrix} = \begin{bmatrix} g_{i} & -g_{i}h_{r} & -g_{i}(1-h_{r}) \\ g_{m} & g_{o} - g_{m}h_{r} & -g_{o} - g_{m}(1-h_{r}) \\ -g_{i} - g_{m} - g_{o} + (g_{m} + g_{i})h_{r}g_{o} + (g_{m} + g_{i})(1-h_{r}) \end{bmatrix} \begin{bmatrix} v_{1} = v_{v} \\ v_{2} = v_{c} \\ v_{3} = v_{e} \end{bmatrix}$$
(20)

The typical values of these h-parameters of any BJT at low frequencies are assumed to be as;

$$g_{ie} = 1mS, h_{re} = 10^{-4}, h_{fe} = 100, h_{oe} = g_o = 10^{-6}S$$

= 0.001mS, $g_m = 100mS$,

$$g_{ie}h_{re} = 0.0001mS, g_mh_r = 100mSx10^{-4} = 10^{-5}S = 0.01mS,$$

$$g_i(1 - h_r) = 1mS(1 - 0.0001) = 0.9999mS, g_o - g_m h_r = 0.001 - 0.01 = 0.009mS$$

After substituting these parameter values, Eq. (20) reduces to

$$\begin{bmatrix} i_{1} = i_{b} \\ i_{2} = i_{c} \\ i_{3} = i_{e} \end{bmatrix} = \begin{bmatrix} 1 & -0.0001 & -0.9999 \\ 100 & 0.001 - 0.01 & -0.001 - 100x(0.9999) \\ -101 - 0.001 + (101)0.0001 & 0.001 + (101)(0.9999) \end{bmatrix} \begin{bmatrix} v_{1} = v_{v} \\ v_{2} = v_{c} \\ v_{3} = v_{e} \end{bmatrix}$$
$$\begin{bmatrix} i_{1} = i_{b} \\ i_{2} = i_{c} \\ i_{3} = i_{e} \end{bmatrix} = \begin{bmatrix} 1 & -0.0001 - 0.9999 \\ 100 & -0.0090 & 99.991 \\ -101 & 0.0091 & 100.9909 \end{bmatrix} \begin{bmatrix} v_{1} = v_{v} \\ v_{2} = v_{c} \\ v_{3} = v_{e} \end{bmatrix}$$
(21)

www.rsisinternational.org

We observe from Eq. (21) that the algebraic sum of all elements of any row or any column is zero. This verifies the zero sum property of the floating admittance matrix.

Now we would like to demonstrate the advantages of floating admittance matrix approach to the circuits analysis in different configurations of amplifiers containing BJTs in particular using the floating admittance model of the BJT derived in Eq. (21).

III. COMMON EMITTER AMPLIFIER CONFIGURATION [20-23]

The first assumption in the analysis of common emitter amplifier (CE) configuration is that the BJT is biased in the linear region of operation. The second assumption is that the external resistances used in biasing the BJT in the linear region are much larger than the small signal resistances of the BJT. The third assumption is that all bypass and coupling capacitors and the DC supply voltage (s) behave as short circuits at the signal frequency of operation. Hence, in all three configurations to follow, only source and load resistances would be considered in deriving different equations, for simplicity as in Fig. 4.

The coefficient matrix in Eq. (20) is called the floating admittance matrix for a 3-terminal BJT and is separated from it as;

$$\begin{bmatrix} g_i & -g_i h_r & -g_i (1-h_r) \\ g_m & g_o - g_m h_r & -g_o - g_m (1-h_r) \\ -g_i - g_m & -g_o + (g_m + g_i) h_r g_o + (g_m + g_i) (1-h_r) \end{bmatrix}$$
(22)



Fig. 4 Common Emitter Amplifier

The floating admittance matrix of external source and load conductance g_s and G_L of Fig. 4 are expressed as;

Merging Eqs.(22) and (23) as per its node number yields the floating admittance matrix of Fig. 4 as;

$$\begin{bmatrix} g_i + g_s & -g_i h_r & -g_i (1 - h_r) - g_s \\ g_m & g_o - g_m h_r + G_L & -g_o - g_m (1 - h_r) - G_L \\ -g_i - g_s - g_m - g_o + (g_i + g_m) h_r - G_L g_o + (g_i + g_m) (1 - h_r) + g_s + G_L \end{bmatrix}$$
(24)

The input impedance or input resistance between terminals 1 and 3 of Fig. 4 is expressed in terms of co-factors of Eq. (24) as;

$$Z_{in} = Z_{13} = \frac{|Y_{13}^{13}|}{|Y_3^3|}_{g_s=0}$$
(25)

Similarly, the output impedance or output resistance between terminals 2 and 3 of Fig. 4 is expressed in terms of co-factors of Eq. (24) as;

$$Z_o = Z_{23} = \frac{|Y_{23}^{23}|}{|Y_3^3|_{G_L=0}}$$
(26)

The voltage gain between terminals 2 & 3 and 1 & 3 of Fig. 4 is expressed in terms of co-factors of Eq. (24) as;

$$A_{\nu}|_{13}^{23} = \frac{\nu_{23}}{\nu_{13}} = sgn(2-3)sgn(1-3)(-1)^{2+3+1+3}\frac{|\nu_{23}^{13}|}{|\nu_{13}^{13}|}$$
(27)

The current gain of Fig. 4 is expressed in terms of co-factors of Eq. (24) as;

$$A_{i}|_{13}^{23} = \frac{v_{23}}{v_{13}} = sgn(2-3)sgn(1-3)(-1)^{2+3+1+3} \frac{|Y_{23}^{13}|}{|Y_{3}^{3}|} G_{L}$$
(28)

The power gain is obtained as the multiplication of the voltage and the current gains as;

$$A_p \Big|_{13}^{23} = (A_v |_{13}^{23}) (A_i |_{13}^{23})$$
(29)

The pertinent first order and second order cofactors are evaluated from Eq. (24) for subsequent use in deriving the mathematical equation of voltage gain, current gain, input resistance, output resistance, Power gain etc.are;

$$\begin{aligned} |Y_{3}^{3}|_{g_{s}=0} &= \begin{vmatrix} g_{i} + g_{s} & -g_{i}h_{r} \\ g_{m} & g_{o} - g_{m}h_{r} + G_{L} \end{vmatrix} \\ &= g_{i}(g_{o} - g_{m}h_{r} + G_{L}) + g_{m}g_{i}h_{r} \\ &= \frac{h_{oe}}{h_{ie}} - \frac{h_{fe}}{h_{ie}}x\frac{h_{re}}{h_{ie}} + \frac{G_{L}}{h_{ie}} + \frac{h_{fe}}{h_{ie}}x\frac{h_{re}}{h_{ie}} = \frac{h_{oe}}{h_{ie}} + \frac{G_{L}}{h_{ie}} \\ &= \frac{h_{oe}}{h_{ie}} + \frac{1}{h_{ie}R_{L}} = \frac{1 + h_{oe}R_{L}}{h_{ie}R_{L}} \\ |Y_{13}^{13}| &= g_{o} - g_{m}h_{re} + G_{L} = h_{oe} - \frac{h_{fe}}{h_{ie}}h_{re} + \frac{1}{R_{L}} \\ &= \frac{h_{ie}h_{oe} - h_{fe}h_{re}}{h_{ie}} + \frac{1}{R_{L}} \end{aligned}$$

Where, Δh_e = determinant of h-parameter matrix = $h_{ie} h_{oe} - h_{fe} h_{re}$

$$\begin{aligned} |Y_3^3| &= \begin{vmatrix} g_i + g_s & -g_i h_r \\ g_m & g_o - g_m h_r + G_L \end{vmatrix} \\ &= (g_i + g_s)(g_o - g_m h_r + G_L) + g_m g_i h_r \\ &= (g_i g_o - \frac{g_i g_m h_F}{g_m g_t h_F} + g_i G_L) + g_s (g_o - g_m h_r + G_L) \\ &+ \frac{g_m g_t h_F}{g_m g_t h_F} \end{aligned}$$

$$= \left(\frac{h_{oe}}{h_{ie}} + \frac{1}{h_{ie}R_L}\right) + \left(\frac{h_{oe}}{r_s} - \frac{h_{fe}}{h_{ie}}x\frac{h_{re}}{r_s} + \frac{1}{r_sR_L}\right)$$

$$= \left(\frac{1 + h_{oe}R_L}{h_{ie}R_L}\right) + g_s\left(\frac{h_{ie}h_{oe} - h_{fe}h_{re}}{h_{ie}} + \frac{1}{R_L}\right)$$

$$= \left(\frac{1 + h_{oe}R_L}{h_{ie}R_L}\right) + g_s\left(\frac{\Delta h_e}{h_{ie}} + \frac{1}{R_L}\right) = \left(\frac{1 + h_{oe}R_L}{h_{ie}R_L}\right) + g_s\left(\frac{h_{ie} + \Delta h_eR_L}{h_{ie}R_L}\right)$$

$$= \left(\frac{1 + h_{oe}R_L}{h_{ie}R_L}\right) = \left(\frac{1 + h_{oe}R_L + g_s(h_{ie} + \Delta h_eR_L)}{h_{ie}R_L}\right)$$

$$|Y_{3}^{3}|_{G_{L}=0} = \begin{vmatrix} g_{i} + g_{s} & -g_{i}h_{r} \\ g_{m} & g_{o} - g_{m}h_{r} + G_{L} \end{vmatrix}$$

= $(g_{i} + g_{s})(g_{o} - g_{m}h_{r}) + g_{m}g_{i}h_{r}$
= $(g_{i}g_{o} - g_{i}g_{m}h_{r}) + g_{s}(g_{o} - g_{m}h_{r}) + g_{s}(g_$

 $g_{\overline{m}g_{t}h_{\overline{r}}} = g_{i}g_{o} + g_{s}(g_{o} - g_{m}h_{r})$

$$= \frac{h_{oe}}{h_{ie}} + g_s \left(h_{oe} - \frac{h_{fe}}{h_{ie}} h_{re} \right) = \frac{h_{oe}}{h_{ie}} + g_s \left(\frac{\Delta h_e}{h_{ie}} \right)$$
$$= \frac{h_{oe} + g_s \Delta h_e}{h_{ie}}$$
$$|Y_{23}^{23}| = g_i + g_s = \frac{h_{ie} + r_s}{h_{ie} r_s}$$

The voltage gain between terminals 2 & 3 and 1 & 3 of Fig. 4 is expressed in terms of co-factors of Eq. (24) as;

$$A_{\nu}|_{13}^{23} = \frac{v_{23}}{v_{13}} = (-1)(-1)(-1)\frac{|Y_{23}^{13}|}{|Y_{13}^{13}|} = -\frac{|Y_{23}^{13}|}{|Y_{13}^{13}|} = -\frac{g_m}{\frac{h_{ie} + \Delta h_e R_L}{h_{ie} R_L}} = -\frac{g_m h_{ie} R_L}{h_{ie} + \Delta h_e R_L}$$

$$= -\frac{h_{fe} R_L}{h_{ie} + \Delta h_e R_L} \cong -\frac{h_{fe} R_L}{h_{ie}} = -g_m R_L$$
(30)

The input impedance or input resistance between terminals 1 and 3 of Fig. 4 is expressed in terms of co-factors of Eq. (24) as;

$$Z_{in} = Z_{13} = \frac{|Y_{13}^{13}|}{|Y_{3}^{3}|}_{g_{s}=0} = \frac{\frac{h_{ie} + \Delta h_{e}R_{L}}{h_{ie}R_{L}}}{\frac{1 + h_{oe}R_{L}}{h_{ie}R_{L}}} = \frac{h_{ie} + \Delta h_{e}R_{L}}{1 + h_{oe}R_{L}}$$
(31)

The output impedance or output resistance between terminals 2 and 3 of Fig. 4 is expressed in terms of co-factors of Eq. (24) as;

$$Z_{o} = Z_{23} = \frac{|Y_{23}^{23}|}{|Y_{3}^{23}|}_{G_{L}=0} = \frac{\frac{h_{ie} + r_{s}}{h_{ie} r_{s}}}{\frac{h_{oe} + g_{s} \Delta h_{e}}{h_{ie}}} = \frac{h_{ie} + r_{s}}{r_{s}(h_{oe} + g_{s} \Delta h_{e})} = \frac{h_{ie} + r_{s}}{r_{s}h_{oe} + \Delta h_{e}}$$
(32)

h la

The current gain of Fig. 4 is expressed in terms of co-factors of Eq. (24) as;

$$A_{i}|_{13}^{23} = \frac{v_{23}}{v_{13}} = sgn(2-3)sgn(1-3)(-1)^{2+3+1+3} \frac{|v_{23}^{13}|}{|v_{3}^{3}|} G_{L}$$
(33)
$$= (-1)(-1)(-1) \frac{|Y_{23}^{13}|}{|Y_{3}^{3}|} G_{L} = -\frac{|Y_{23}^{13}|}{|Y_{3}^{3}|} G_{L}$$
$$= -\frac{g_{m}G_{L}}{\frac{1+h_{oe}R_{L}+g_{s}(h_{ie}+\Delta h_{e}R_{L})}{h_{ie}R_{L}}}$$
$$= -\frac{g_{m}G_{L}h_{ie}R_{L}}{1+h_{oe}R_{L}+g_{s}(h_{ie}+\Delta h_{e}R_{L})}$$
$$= -\frac{h_{fe}}{1+h_{oe}R_{L}} for g_{s} = 0 \ (\cong -h_{fe})$$
(34)

Equation (34) is available in all standard books which is the approximate ones after assuming $g_s = 0$. Our method is simple and yields exact ones.

The power gain is obtained as the multiplication of the voltage and the current gains as;

$$A_{p}\Big|_{13}^{23} = (A_{v}|_{13}^{23})(A_{i}|_{13}^{23}) = \left(-\frac{g_{m}h_{ie}R_{L}}{h_{ie}+\Delta h_{e}R_{L}}\right)\left(-\frac{h_{fe}}{1+h_{oe}R_{L}}\right) \cong g_{m}R_{L}xh_{fe} = h_{fe}g_{m}R_{L}$$
(35)

IV. CONCLUSION

The floating admittance matrix approach is very simple, once conceived. The computer can be used to solve all the elements of the FAM and the voltage gain, current gain, power gain, input resistance (impedance), and output resistance (impedance) of any complex floating admittance matrix of any circuit to the fractional part of the values.

REFERENCES

- [1]. Pieter Eykhoff, Identification, Springer (Hardcover), 1974.
- [2]. Vernal, V.V, Network Analysis by the Method of Integral Equation, Journal of Electron Modeling, 5, 5,1021-1031, 1985.
- [3]. Wai-Kai Chen, On second-order cofactors and null return difference in feedback amplifier theory, International Journal of Circuit Theory and Applications, Volume 6 Issue 3, Pages 305 – 312, Dec 2006.
- [4]. Balbanian, N. and Bickart, T.A., Electrical Network Theory, John Wiley.
- [5]. Friedman and R. Gulliver, Mathematical modeling for instructors, Technical Report 1254, Institute for Mathematics and its Applications, 1994.
- [6]. E. Edwards and M. Hamson, Guide to Mathematical Modeling, CRC, 1990.
- [7]. J. G. Andrews and R. R. McLone, Mathematical Modeling, Butterworths, 1976.

- [8]. D. Burghes, P. Galbraith, N. Price, and A. Sherlock, Mathematical Modeling, Prentice Hall, 1996.
- [9]. R. R. Clements, Mathematical Modeling: A Case Study Approach, Cambridge Press University, 1989.
- [10]. M. Cross and A. O. Moscardini, Learning the Art of Mathematical Modeling, Ellis Horwood, 1985.
- [11]. C. L. Dym and E. S. Ivey, Principles of Mathematical Modeling, 58 Academic Press, 1980.
- [12]. Bender, E.A., An Introduction to mathematical Modeling, Wiley, 1978. 40. P. Doucet and P.B. Sloep, Mathematical Modeling in the life Sciences, Ellis Horwood, 1992.
- [13]. Aris, Rutherford [1978] (1994), Mathematical Modeling Techniques, New York: Dover. ISBN 0-486-68131-9
- [14]. Bender, E. A. [1978] (2000), An Introduction to Mathematical Modeling, New York: Dover. ISBN 0-486-41180-X
- [15]. Lin, C. C. & Segel, L. A. (1988), Mathematics Applied to Deterministic Problems in the Natural Sciences, Philadelphia: SIAM. ISBN 0-89871-229-7
- [16]. Gershenfeld, N. (1998), The Nature of Mathematical Modeling, Cambridge University Press ISBN 0-521-57095-6.
- [17]. Baehr, Jason. (2006), "A Priori and A Posteriori," Internet Encyclopedia of Philosophy.
- [18]. I. Getreu, Modeling the Bipolar Transistor, Beaverton, Ore: 98 Tektronix, Inc., 1976.
- [19]. Otso Juntunen (1998); A Two-Port S-Parameter Data Transformation; Circuit Theory Laboratory Report Series, CT-35, Helsinki University of Technology, Finland, Espoo.

- [20]. B. P. Singh, Unified Approach to Electronics Circuit Analysis: IJEEE, Vol, pp.276-285, July 1978.
- [21]. B.P. Singh, Meena Singh, Sanjay Kumar Roy, and S.N. Shukla, "Mathematical Modeling of Electronic Devices and its integration," Proceedings of National Seminar on Recent Advances on Information Technology, pp.494-502, Feb. 6-7, 2009, Indian School of Mines Dhanbad University, Published by Allied Publishers Pvt. Ltd..
- [22]. B. P. Singh, Meena Singh & Sanjay Kumar Roy," Mathematical Modeling of Electronic Devices and Circuits" .International Journal of Computer Sciences, Software Engineering and Electrical Communication Engineering, Vol. 3 No. 1 pp 19-26, Jan-June 2012, ISSN: 2229-3175, Published by Global Research Publications New Delhi (India)
- [23]. Meena Singh, Sachidanand Shukla & B.P Singh," On Demand Realization of Input and Output Resistances of MOSFET Amplifier" International Journal of Computer Sciences, Software Engineering and Electrical Communication Engineering, Vol. 3. pp 27-32, Jan-June 2012, ISSN: 2229-3175, Published by Global Research Publications New Delhi (India)
- [24]. Meena Singh, B.P Singh Lecture notes in Electrical engineering book series (LNEE VOLUME 476) Published by Springer, DOI 10,1007/978-981-10-8234-4_24 PP 267-280 CITE AS "Floating Admittance Matrix Approach to model development of active devices and circuits". JULY 2018